50, will be treated as malpractice.

, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers

USN 10CS63
Time: 3 hrs. Max. Marks:100
Note: Answer any FIVE,
at least TWO full
1
position = initial + rate * 60 cle (12 Marks)
Write regular definition for an un51gned number, also draw transition diagrams for the same.
. (06 Marks)
(02 Marks)
2 ft recursion; ii) Left factorization, and refine the following grammer
(06 Marks)
S > af|ov)
M - M,S|S e
i) Make necessary changes sultable for L(l) parsing (02 Marks)
ii)  Construct predlctlve parsing table © (08 Marks)
iij) ~ Show the parser moves on the i put (a, (a, a)). (04 Marks)
3
flicts that may occur during shift reduce
& (08 Marks)
: the grammer and construct LR(1) parsing table.
~Is the grammer SLR(I) . Give reasons.
(»Grammer is S —» L'= R :
S '*R»,.,« ‘
R—>L e (12 Marks)
+ Consider the following’ érérh‘mer

S > AA

A —aAlb

Determine if the grammer is LR(1) or not. (10 Marks)
Determine if the grammer is LALR or not. (10 Marks)
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PART — B
Give the syntax directed definition to process a simpl

&aﬁale declaration in ‘C’. (06 Marks)
Define dependency graph and construct dependency graph for the input float id1, id2, id3.

(08 Marks)
Define inherited and synthesized attributes, give examples for each. (06 Marks)
&
Write syntax directed definition for flow of j,ﬁnt;ol statements
i) S-—if(B)SlI
ii) S — while (B) S1 (06 Marks)
Explain the following with an exa .
i) Quadraples
ii)  Triples
iii)  Indirect triples. (09 Marks)
Translate the given, assi
n = f (a[i]); : (05 Marks)

What is an activation'record? Explain the purpose of each item in the activation record with

example. Ve (10 Marks)
Explain desjrable properties of memory fnanager. (05 Marks)
: N - ) : ’ "
Explain Abfe%&e the performance metrics’ to be considered while designing a garbage
collectory, (05 Marks)
‘f\%, L4 i, 2
Discuss the various issues in thes »j,sfgn of a code genpf [OT. (10 Marks)
Write the three-address codejand construct the «,Qésii‘wblocks, for the following program
. Y \
segment:
Sum = 0; .
for (i=0; i< = 10; i+H)
(10 Marks)

sum = sum + aL;g,;, 4




